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[1] PCBYH 110 oK XOK10
I t(0.4) 0.4 11
B EEE 18 0.5 12
3 RV Z7ante 7 == 18 2 4
47 F5 7 a0t 7 ==L 27 0.2 0.6
(1411275 F—PCBD ) 533447 N5 7 uut7 =1L (§77) nd 0.2 0.6
[142] 275 )—PCBD ) 534457 F9 7 uut 7 ==L (#31) nd 03 0.7
[15] o # 7 aut7 ==L 26 03 0.7
[15-1] 275 F —PCBD 5 6 233 A4 F J aa BT = =L (#105) tr(1.5) 0.6 17
[152] 275 —PCBD ) 6 234450 Z 7 a7 ==/ (F114) nd 0.4 0.9
[153] 275 F —PCBD 5 b 2344520 4/ aa 7 = =L (Z118) 35 0.6 16
[154] =75 F —PCBD 5 b 2344520 4 J aa B = =L (#123) nd 03 0.7
[155] =75 J —PCBD 5 b 3344520 4 J aa £ = =L (#126) nd 03 0.8
[16] ~XJ 7 auE7 ==Lk 13 0.2 0.4
[1-6-1] 275 —PCBD ) 6 233 44 5~%F 7 U E7 = =L (#156) 1r(0.3) 0.2 0.4
[1-62] =75 F —PCBD 5 6 233 AXS~FF 7 a0 €7 ==/ (#157) nd 03 0.7
[1-63] =75 F —PCBD 5 6 2344355 ~FF 7 au €7 ==/ (#167) nd 0.2 0.6
[1-64] =75 F —PCBD 5 6 3344355 ~FF 7 a0 €7 ==L (#169) nd 0.2 0.5
7] ~7#% 7 aut7 ==L 48 0.1 0.4
[1-7-11 275 —PCBD ) 6 2233 44 5-~F7 Z 7 nut 7 ==L (§170) 1r(0.5) 03 0.9
[1-72] 275 —PCBD D 6 22 344 55-~7 X 7 nut 7 ==L (£180) t(0.9) 05 14
[1-73] 275 —PCBD ) 6 233 44 55-~7 X 7 nut 7 ==L (#189) nd 0.6 15
8] 47 7/ aut 7 ==Lk nd 03 0.7
[19] /F 7 HrE 7 = =/%d nd 0.2 0.6
[1-10] 77”7 =)L nd 0.2 0.5
2JHCB (~¥ ¥/ aa~_PL) 30 0.2 0.5
BI7AFU > 17 03 0.7
417 A4/VKY 54 0.2 0.6
e 47 03 0.7
[6] DDA 820 XOK0.9 XoK2.2
[6-1]p,p-DDT 390 0.06 0.15
[6-2] p,p-DDE 220 0.4 11
[6-3] p,p-DDD 140 0.2 0.4
[6-4]0,p-DDT 43 0.06 0.16
[6-5] 0,p-DDE 44 0.09 0.22
[6-6] 0,p-DDD 24 0.09 0.22
717 an> o 96 XOK16 XK 3
[7-1] cis 7 L7y 29 0.4 11
[7-2] trans Zu L5 40 0.3 0.8
REEEY 37 0.4 11
[7-4 cis-/J 7 aL 41 0.1 03
[7-5] trans /7 7 e/ 20 0.4 1.0
8] ~7 % 7 L 64 XOK0.8 XOK2.0
81 ~7 % 7t 2.4 0.3 0.8
[8-2] cis—~7 # VL =ARF L 62 0.2 0.5
[8-3] trans -~7 X /)L TARF LR nd 0.3 0.7
[9-1] 2-endo,3-ex0,5-endo,6-€x0,8,8,10,10-4 27 % 7 v 7h )L} (Parlar-26) nd 2 5
[9-2] 2-endo,3-ex0,5-endo,6-€x0,8,8,9,10,10- / + 7 m 2 /R )L (Parlar-50) nd 3 7
[9-3]2,2.5,5,8.0.9.10,10- / F 7 2 0 7R /LT > (Parlar-62) nd 20 40
0] ~A Lo 7R nd 0.2 0.4
[11-1] a-HCH 190 0.4 1.2
[11-2] B-HCH 620 0.2 0.6
[11-3]y-HCH Gil% : U o7 ) 170 0.2 0.6
[11-4] 3-HCH 51 0.4 0.9
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2] ~FJ 7 uEt 7 ==L nd 322 K57
[12-1]12,2'44,5,5~F YT a7 =)L (#153) nd 0.64 1.7
[12-2]12,2'4,4,6,6 ~F Y7 a7 = =)L (#155) nd 0.19 0.51
[12-3]13,3'44,5,5~F Y7 a7 ==L (#169) nd 0.78 2.1
[13]R) 7uEY 7 x2=Lx—F VH (REEP4NHI0ETOL D) 1r(260) 3240 720
[13-1]7 RS9 7REY T == Lt—F LA 29 3 3
[13-1-1] 22445 RS 70ED T = = )LT—7 L (#47) 27 3 3
[132] v X T uEY T ==L —7 LM 15 4 11
[13-2-1122 4452 ¥ T aEY 7 == Lx—7 /L (#99) 11 3 7
[33]~F VT OEL T ==L —F LM 1(0.7) 0.6 1.4
[13-3-1]2,2',4,4',5,5'~FH T a7 == )L=—7 /L (#153) tr(0.7) 0.6 1.6
[13-3-2]2,2',4,4',5,6'~FH T 0E 7 == )L=—T /)L (#154) nd 0.6 1.4
[13-4]~T BT aET T x=)L—T VI nd 2 4
[13-4-112,2 33456 ~7 X 7 0EL 7 ==L —F /L (F175) KO nd 2 6
[13-4-2]2,2' 3,44 5.6~T 4 T 0EYT 2 =LT—F L (#183) OAFHE

[13-51 47 % 7 0EY 7 = =)L —7 LM 3.1 0.6 1.4
[13-6] /7 BEYT = =)L=—7F LI nd 30 91
37T HTBEDT == )LT—F )L r(210) 200 600
[14] ~)V T NF A7 X ALK fE (PFOS) 310 14 37
[15] V7 F A7 % g (PFOA) 870 23 59
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